
Supplementary Table S1 

Growth Curve Model Fit Indices of Housework Contributions from Ages 25 to 50 Years for 

Women (n = 266) and Men (n = 254) 
Model χ2(df)  RMSEA (90% 

CI)  

CFI TLI SRMR Model Comparison:  

χ2
diff(df) 

Cooking Meals       

Women’s Models       

     Fixed Intercept 86.820 (9) .181 (.147, .216) .000 .307 .247  

     Random Intercept 23.039 (8) .084 (.045, .125) .799 .849 .129 χ2
diff(1) = 63.781, p < .001 

     Fixed Linear Slope 20.322 (7) .085 (.043, .129) .822 .848 .146 χ2
diff(1) = 2.717, p = .099 

     Random Linear Slope 7.392 (5) .042 (.000, .102) .968 .962 .091 χ2
diff(2) = 12.930, p = .002 

     Fixed Quadratic Slope 5.428 (4) .037 (.000, .106) .981 .971 .080 χ2
diff(1) = 1.964, p = .161 

Men’s Models       

     Fixed Intercept 75.752 (9) .171 (.137, .207) .026 .351 .253  

     Random Intercept 15.794 (8) .062 (.009, .107) .886 .915 .196 χ2
diff(1) = 59.958, p < .001 

     Fixed Linear Slope 15.301 (7) .068 (.019, .115) .879 .896 .203 χ2
diff(1) = .493, p = .483 

     Random Linear Slope 2.958 (5) .000 (.000, .065) 1.000 1.000 .055 χ2
diff(2) = 12.343, p = .002 

     Fixed Quadratic Slope 2.158 (4) .000 (.000, .071) 1.000 1.000 .047 χ2
diff(1) = .800, p = .371 

Cleaning the Kitchen       

Women’s Models       

     Fixed Intercept 74.884 (9) .166 (.133, .202) .000 .205 .242  

     Random Intercept 27.833 (8) .097 (.059, .137) .641 .731 .115 χ2
diff(1) = 47.051, p < .001 

     Fixed Linear Slope 27.532 (7) .105 (.066, .148) .628 .682 .111 χ2
diff(1) = .301, p = .583 

     Random Linear Slope 20.993 (5) .110 (.064, .160) .711 .653 .118 χ2
diff(2) = 6.539, p = .038 

     Fixed Quadratic Slope 8.067 (4) .062 (.000, .124) .926 .890 .056 χ2
diff(1) = 12.926, p < .001 

Men’s Models       

     Fixed Intercept 55.091 (9) .143 (.108, .180) .025 .350 .235  

     Random Intercept 9.806 (8) .030 (.000, .083) .962 .971 .116 χ2
diff(1) = 45.285, p < .001 

     Fixed Linear Slope 9.471 (7) .037 (.000, .091) .948  .955 .117 χ2
diff(1) = .335, p = .563 

     Random Linear Slope 5.746 (5) .024 (.000, .094) .984 .981 .102 χ2
diff(2) = 3.725, p = .155 

     Fixed Quadratic Slope 4.184 (4) .014 (.000, .097) .996 .994 .091 χ2
diff(1) = 1.562, p = .211 

Grocery Shopping       

Women’s Models       

     Fixed Intercept 119.074 (9) .214 (.181, .250) .000 .318 .279  

     Random Intercept 40.930 (8) .124 (.088, .163) .694 .771 .209 χ2
diff(1) = 78.144, p < .001 

     Fixed Linear Slope 40.637 (7) .134 (.096, .176) .687 .732 .211 χ2
diff(1) = .293, p = .588 

     Random Linear Slope 16.178 (5) .092 (.044, .143) .896 .875 .060 χ2
diff(2) = 24.459, p < .001 

     Fixed Quadratic Slope 8.272 (4) .063 (.000, .125) .960 .940 .073 χ2
diff(1) = 7.906, p = .005 

Men’s Models       

     Fixed Intercept 44.014 (9) .124 (.089, .161) .049 .366 .199  

     Random Intercept 29.155 (8) .102 (.064, .143) .425 .569 .249 χ2
diff(1) = 14.859, p < .001 

     Fixed Linear Slope 29.154 (7) .112 (.072, .155) .398 .484 .249 χ2
diff(1) = .001, p = .975 

     Random Linear Slope 5.285 (5) .015 (.000, .090) .992 .991 .067 χ2
diff(2) = 23.869, p < .001 

     Fixed Quadratic Slope 3.766 (4) .000 (.000, .092) 1.000 1.000 .063 χ2
diff(1) = 1.519, p = .218 

  



Supplementary Table S1 

Continued 
Model χ2(df)  RMSEA (90% 

CI)  

CFI TLI SRMR Model Comparison: 

χ2
diff(df) 

House Cleaning       

Women’s Models       

     Fixed Intercept 63.689 (9) .153 (.119, .189) .018 .346 .224  

     Random Intercept 20.187 (8) .077 (.035, .119) .781 .836 .160 χ2
diff(1) = 43.502, p < .001 

     Fixed Linear Slope 19.356 (7) .082 (.040, .127) .778 .810 .170 χ2
diff(1) = .831, p = .362 

     Random Linear Slope 2.936 (5) .000 (.000, .064) 1.000 1.000 .042 χ2
diff(2) = 16.420, p < .001 

     Fixed Quadratic Slope .684 (4) .000 (.000, .000) 1.000 1.000 .022 χ2
diff(1) = 2.252, p = .133 

Men’s Models       

     Fixed Intercept 49.960 (9) .136 (.100, .174) .000 .305 .229  

     Random Intercept 17.439 (8) .069 (.023, .114) .760 .820 .114 χ2
diff(1) = 32.521, p < .001 

     Fixed Linear Slope 13.935 (7) .063 (.000, .112) .824 .849 .104 χ2
diff(1) = 3.504, p = .061 

     Random Linear Slope 8.643 (5) .054 (.000, .114) .907 .889 .092 χ2
diff(2) = 5.292, p = .071 

     Fixed Quadratic Slope 4.478 (4) .022 (.000, .101) .988 .982 .076 χ2
diff(1) = 4.165, p = .041 

Laundry       

Women’s Models       

     Fixed Intercept 94.974 (9) .190 (.156, .225) .000 .271 .251  

     Random Intercept 27.345 (8) .096 (.058, .136) .754 .815 .116 χ2
diff(1) = 67.629, p < .001 

     Fixed Linear Slope 24.829 (7) .098 (.058, .141) .773 .806 .119 χ2
diff(1) = 2.516, p = .113 

     Random Linear Slope 15.054 (5) .087 (.039, .139) .872 .847 .084 χ2
diff(2) = 9.775, p = .008 

     Fixed Quadratic Slope 3.107 (4) .000 (.000, .083) 1.000 1.000 .044 χ2
diff(1) = 11.947, p < .001 

Men’s Models       

     Fixed Intercept 82.612 (9) .180 (.000, .307) .000 .307 .279  

     Random Intercept 20.867 (8) .080 (.038, .123) .818 .864 .143 χ2
diff(1) = 61.745, p < .001 

     Fixed Linear Slope 18.449 (7) .080 (.036, .126) .838 .861 .138 χ2
diff(1) = 2.418, p = .120 

     Random Linear Slope 11.339 (5) .071 (.010, .126) .910 .893 .073 χ2
diff(2) = 7.110, p = .029 

     Fixed Quadratic Slope 6.536 (4) .050 (.000, .117) .964 .946 .064 χ2
diff(1) = 4.803, p = .028 

Housework Aggregate       

Women’s Models       

     Fixed Intercept 132.227 (9) .227 (.194, .262) .000 .288 .289  

     Random Intercept 47.486 (8) .136 (.100, .175) .658 .743 .280 χ2
diff(1) = 84.741, p < .001 

     Fixed Linear Slope 44.462 (7) .142 (.104, .183) .675 .722 .284 χ2
diff(1) = 3.024, p = .082 

     Random Linear Slope 18.743 (5) .102 (.055, .153) .881 .857 .061 χ2
diff(2) = 25.719, p < .001 

     Fixed Quadratic Slope 1.481 (4) .000 (.000, .054) 1.000 1.000 .037 χ2
diff(1) = 17.262, p < .001 

Men’s Models       

     Fixed Intercept 69.909 (9) .163 (.129, .200) .014 .343 .253  

     Random Intercept 22.526 (8) .085 (.044, .127) .765 .824 .215 χ2
diff(1) = 47.383, p < .001 

     Fixed Linear Slope 22.237 (7) .093 (.051, .137) .753 .789 .216 χ2
diff(1) = .289, p = .591 

     Random Linear Slope 9.665 (5) .061 (.000, .118) .924 .909 .116 χ2
diff(2) = 12.572, p = .002 

     Fixed Quadratic Slope 8.308 (4) .065 (.000, .128) .930 .895 .113 χ2
diff(1) = 1.357, p = .244 

Note: Fixed = variance was fixed at 0. Random = variance was freely estimated. Bolded models 

had the best fit.  

  



Supplementary Table S2 

Multiple Group Models Comparing Women’s (n = 266) and Men’s (n = 254) Corresponding 

Housework Growth Model Parameters from Ages 25 to 50 Years  
Model χ2(df)  RMSEA (90% 

CI)  

CFI TLI SRMR Model Comparison: 

χ2
diff(df) 

Cooking Meals       

Freely Estimated  10.350 (10) .012 (.000, .069) .998 .997 .075  

Constrain Intercept Mean 119.203 (11) .195 (.164, .227) .246 .177 .278 χ2
diff(1) = 108.853, p < .001 

Constrain Intercept Variance 10.381 (11) .000 (.000, .062) 1.000 1.000 .075 χ2
diff(1) = .031, p = .860 

Constrain Lin. Slope Mean 10.421 (12) .000 (.000, .056) 1.000 1.000 .074 χ2
diff(1) = .040, p = .841 

Constrain Lin. Slope Variance 10.451 (13) .000 (.000, .051) 1.000 1.000 .075 χ2
diff(1) = .030 p = .862 

Cleaning the Kitchen       

Freely Estimated  17.872 (12) .044 (.000, .083) .943 .943 .090  

Constrain Intercept Mean 62.185 (13) .121 (.092, .152) .520 .557 .297 χ2
diff(1) = 44.313, p < .001 

Constrain Intercept Variance 17.892 (14) .038 (.000, .077) .952 .956 .090 χ2
diff(1) = .020, p = .888 

Grocery Shopping       

Freely Estimated  13.557 (9) .044 (.000, .089) .968 .958 .070  

Constrain Intercept Mean 71.280 (10) .154 (.121, .188) .576 .491 .241 χ2
diff(1) = 57.723, p < .001 

Constrain Intercept Variance 13.700 (10) .038 (.000, .082) .974 .969 .071 χ2
diff(1) = .420, p = .517 

House Cleaning       

Freely Estimated  7.414 (9) .000 (.000, .061) 1.000 1.000 .061  

Constrain Intercept Mean 87.453 (10) .175 (.142, .209) .185 .022 .221 χ2
diff(1) = 80.039, p < .001 

Constrain Intercept Variance 7.770 (10) .000 (.000, .056) 1.000 1.000 .069 χ2
diff(1) = .356, p = .551 

Laundry       

Freely Estimated  9.643 (8) .028 (.000, .081) .989 .984 .054  

Constrain Intercept Mean 99.518 (9) .197 (.163, .233) .394 .192 .388 χ2
diff(1) = 89.875, p < .001 

Constrain Intercept Variance 9.696 (9) .017 (.000, .073) .995 .994 .055 χ2
diff(1) = .053, p = .818 

Constrain Lin. Slope Mean 9.722 (10) .000 (.000, .066) 1.000 1.000 .056 χ2
diff(1) = .026, p = .872 

Constrain Lin. Slope Variance 10.255 (11) .000 (.000, .062) 1.000 1.000 .054 χ2
diff(1) = .533, p = .465 

Constrain Quad. Slope Mean 10.424 (12) .000 (.000, .056) 1.000 1.000 .055 χ2
diff(1) = .169, p = .681 

Housework Aggregate       

Freely Estimated  11.147 (9) .030 (.000, .080) .988 .984 .085  

Constrain Intercept Mean 161.289 (10) .241 (.209, .275) .146 .000 .567 χ2
diff(1) = 150.142, p < .001 

Constrain Intercept Variance 11.341 (10) .023 (.000, .073) .992 .991 .086 χ2
diff(1) = .194, p = .660 

Note: Lin. = linear. Quad. = quadratic.  

 

  



Supplementary Table S3 

Multiple Group Models Comparing Predictor Associations Across Women (n = 266) and Men (n 

= 254) and Across Time  
Model χ2(df)  RMSEA (90% 

CI)  

CFI TLI SRMR Model Comparison: 

χ2
diff(df) 

Cooking Meals       

Freely Estimated  46.558 (53) .000 (.000, .030) 1.000 1.000 .054  

Constraints Across Men and 

Women 

      

Trad. GRA → Int.  46.585 (54) .000 (.000, .029) 1.000 1.000 .054 χ2
diff(1) = .027, p = .869 

Home. Mother → Int. 48.519 (55) .000 (.000, .030) 1.000 1.000 .055 χ2
diff(1) = 1.934, p = .164 

Mother Educ. → Int. 49.785 (56) .000 (.000, .031) 1.000 1.000 .055 χ2
diff(1) = 1.266, p = .261 

Father Education → Int. 50.417 (57) .000 (.000, .030) 1.000 1.000 .056 χ2
diff(1) = .567, p = .451 

Trad. GRA → Slope  51.412 (58) .000 (.000, .030) 1.000 1.000 .057 χ2
diff(1) = .995, p = .319 

Home. Mother → Slope 53.675 (59) .000 (.000, .032) 1.000 1.000 .057 χ2
diff(1) = 2.263, p = .132  

Mother Educ. → Slope 53.675 (60) .000 (.000, .030) 1.000 1.000 .057 χ2
diff(1) = .000, p = 1.000 

Father Education → Slope 60.758 (61) .000 (.000, .037) 1.000 1.000 .060 χ2
diff(1) = 7.083, p = .008 

Kids 25 → Cooking 25 54.912 (61) .000 (.000, .030) 1.000 1.000 .058 χ2
diff(1) = 1.237, p = .266 

Kids 32 → Cooking 32 64.963 (62) .014 (.000, .040) .982 .977 .065 χ2
diff(1) = 10.051, p = .002 

Kids 43 → Cooking 43 71.743 (62) .025 (.000, .047) .939 .926 .066 χ2
diff(1) = 16.831, p < .001 

Kids 50 → Cooking 50 66.678 (62) .017 (.000, .042) .971 .964 .064 χ2
diff(1) = 11.766, p < .001 

Constraints Across Time for 

Women 

      

Kids 32 and Kids 43  56.064 (62) .000 (.000, .030) 1.000 1.000 .059 χ2
diff(1) = 1.152, p = .283 

Kids 50 and Kids 43 and 32 56.081 (63) .000 (.000, .029) 1.000 1.000 .059 χ2
diff(1) = .017, p = .896 

Constraints Across Time for 

Men 

      

Kids 32 and Kids 43 59.497 (64) .000 (.000, .032) 1.000 1.000 .059 χ2
diff(1) = 3.416, p = .065 

Kids 50 and Kids 43 and 32 59.498 (65) .000 (.000, .031) 1.000 1.000 .059 χ2
diff(1) = .001, p = .975 

Cleaning the Kitchen       

Freely Estimated  76.920 (57) .037 (.008, .056) .864 .818 .061  

Constraints Across Men and 

Women 

      

Trad. GRA → Int.  80.403 (58) .039 (.014, .058) .847 .799 .062 χ2
diff(1) = 3.483, p = .062 

Home. Mother → Int. 88.907 (59) .044 (.023, .062) .796 .737 .067 χ2
diff(1) = 8.504, p = .004 

Mother Educ. → Int. 80.786 (59) .038 (.012, .057) .851 .808 .062 χ2
diff(1) = .383, p = .536 

Father Education → Int. 81.419 (60) .037 (.011, .056) .854 .815 .063 χ2
diff(1) = .633, p = .426 

Kids 25 → Kitchen 25 84.240 (61) .038 (.014, .057) .841 .802 .065 χ2
diff(1) = 2.821, p = .093 

Kids 32 → Kitchen 32 87.516 (62) .040 (.017, .058) .826 .786 .064 χ2
diff(1) = 3.276, p = .070 

Kids 43 → Kitchen 43 91.074 (63) .041 (.020, .059) .808 .769 .065 χ2
diff(1) = 3.558, p = .059 

Kids 50 → Kitchen 50 95.157 (64) .043 (.023, .061) .787 .747 .067 χ2
diff(1) = 4.083, p = .043 

Constraints Across Time        

Kids 25 and Kids 32  91.141 (64) .040 (.019, .058) .814 .780 .065 χ2
diff(1) = .067, p = .796 

Kids 43 and Earlier Ages 94.635 (65) .042 (.021, .059) .797 .763 .066 χ2
diff(1) = 3.494, p = .062 

  



Supplementary Table S3 

Continued 
Model χ2(df)  RMSEA (90% 

CI)  

CFI TLI SRMR Model Comparison: 

χ2
diff(df) 

Grocery Shopping 50.368 (50) .005 (.000, .040) .998 .997 .055  

Freely Estimated        

Constraints Across Men and 

Women 

      

Trad. GRA → Int.  51.914 (51) .008 (.000, .041) .995 .992 .054 χ2
diff(1) = 1.546, p = .214 

Home. Mother → Int. 55.165 (52) .015 (.000, .043) .982 .973 .053 χ2
diff(1) = 3.251, p = .071 

Mother Educ. → Int. 55.183 (53) .013 (.000, .042) .987 .982 .054 χ2
diff(1) = .018, p = .893 

Father Education → Int. 56.483 (54) .013 (.000, .042) .986 .980 .055 χ2
diff(1) = 1.300, p = .254 

Kids 25 → Grocery 25 60.827 (55) .020 (.000, .045) .966 .953 .058 χ2
diff(1) = 4.344, p = .037 

Kids 32 → Grocery 32 72.495 (55) .035 (.000, .055) .899 .860 .064 χ2
diff(1) = 11.668, p < .001 

Kids 43 → Grocery 43 67.600 (55) .030 (.000, .051) .927 .899 .063 χ2
diff(1) = 11.117, p < .001 

Kids 50 → Grocery 50 62.815 (55) .023 (.000, .047) .955 .923 .060 χ2
diff(1) = 6.332, p = .011 

Constraints Across Time for 

Women 

      

Kids 25 and Kids 32  56.541 (55) .010 (.000, .041) .991 .988 .056 χ2
diff(1) = .058, p = .810 

Kids 43 and Earlier Ages 57.974 (56) .012 (.000, .041) .989 .985 .055 χ2
diff(1) = 1.433, p = .231 

Kids 50 and Earlier Ages 57.982 (57) .008 (.000, .040) .994 .992 .055 χ2
diff(1) = .008, p = .929 

Constraints Across Time for 

Men 

      

Kids 25 and Kids 32  58.060 (58) .002 (.000, .038) 1.000 1.000 .055 χ2
diff(1) = .078, p = .780 

Kids 43 and Earlier Ages 58.433 (59) .000 (.000, .037) 1.000 1.000 .055 χ2
diff(1) = .373, p = .541 

Kids 50 and Earlier Ages 58.433 (60) .000 (.000, .036) 1.000 1.000 .055 χ2
diff(1) = .000, p = 1.000 

House Cleaning       

Freely Estimated  50.960 (50) .009 (.000, .041) .991 .986 .056  

Constraints Across Men and 

Women 

      

Trad. GRA → Int.  51.321 (51) .005 (.000, .040) .997 .995 .056 χ2
diff(1) = .361, p = .548 

Home. Mother → Int. 53.986 (52) .012 (.000, .042) .981 .972 .056 χ2
diff(1) = 2.665, p = .103 

Mother Educ. → Int. 56.269 (53) .015 (.000, .043) .969 .955 .058 χ2
diff(1) = 2.283, p = .131 

Father Education → Int. 56.985 (54) .015 (.000, .042) .972 .960 .058 χ2
diff(1) = .716, p = .397 

Kids 25 → Cleaning 25 62.728 (55) .023 (.000, .047) .927 .899 .059 χ2
diff(1) = 5.743, p = .017 

Kids 32 → Cleaning 32 59.441 (55) .018 (.000, .044) .958 .942 .061 χ2
diff(1) = 2.456, p = .117 

Kids 43 → Cleaning 43 59.597 (56) .000 (.000, .043) .966 .954 .061 χ2
diff(1) = .156, p = .693 

Kids 50 → Cleaning 50 60.604 (57) .016 (.000, .042) .966 .954 .060 χ2
diff(1) = 1.007, p = .316 

Constraints Across Time        

Kids 32 and Kids 43  61.443 (58) .015 (.000, .042) .967 .957 .060 χ2
diff(1) = .839, p = .360 

Kids 50 and Kids 32 and 43 66.069 (59) .021 (.000, .045) .933 .914 .062 χ2
diff(1) = 4.626, p = .031 

 

  



Supplementary Table S3 

Continued 
Model χ2(df)  RMSEA (90% 

CI)  

CFI TLI SRMR Model Comparison: 

χ2
diff(df) 

Laundry       

Freely Estimated  64.415 (52) .030 (.000, .052) .935 .905 .060  

Constraints Across Men and 

Women 

      

Trad. GRA → Int.  69.829 (53) .035 (.000, .056) .912 .873 .064 χ2
diff(1) = 5.414, p = .020 

Home. Mother → Int. 68.779 (53) .034 (.000, .055) .917 .881 .062 χ2
diff(1) = 4.364, p = .037 

Mother Educ. → Int. 66.577 (53) .031 (.000, .053) .929 .898 .061 χ2
diff(1) = 2.164, p = .141 

Father Education → Int. 68.842 (54) .033 (.000, .054) .922 .890 .064 χ2
diff(1) = 2.265, p = .132 

Trad. GRA → Slope 69.114 (55) .031 (.000, .053) .926 .898 .064 χ2
diff(1) = .272, p = .602 

Home. Mother → Slope 69.543 (56) .030 (.000, .052) .929 .904 .064 χ2
diff(1) = .429, p = .512 

Mother Educ. → Slope 70.122 (57) .030 (.000, .051) .931 .908 .065 χ2
diff(1) = .579, p = .447 

Father Education → Slope 73.284 (58) .032 (.000, .052) .920 .895 .066 χ2
diff(1) = 3.162, p = .075 

Kids 25 → Laundry 25 83.694 (59) .040 (.017, .059) .871 .833 .075 χ2
diff(1) = 10.410, p = .001 

Kids 32 → Laundry 32 80.516 (59) .037 (.011, .057) .887 .855 .072 χ2
diff(1) = 7.232, p = .007 

Kids 43 → Laundry 43 86.109 (59) .042 (.020, .060) .858 .817 .076 χ2
diff(1) = 12.825, p < .001 

Kids 50 → Laundry 50 83.774 (59) .040 (.017, .059) .870 .833 .073 χ2
diff(1) = 10.490, p = .001 

Constraints Across Time for 

Women 

      

Kids 25 and Kids 32  74.515 (59) .032 (.000, .052) .919 .895 .068 χ2
diff(1) = 1.231, p = .267 

Kids 43 and Earlier Ages 75.368 (60) .031 (.000, .052) .919 .898 .067 χ2
diff(1) = .853, p = .356 

Kids 50 and Earlier Ages 78.459 (61) .033 (.000, .053) .908 .886 .067 χ2
diff(1) = 3.091, p = .079 

Constraints Across Time for 

Men 

      

Kids 25 and Kids 32  81.449 (62) .035 (.002, .054) .898 .875 .070 χ2
diff(1) = 2.990, p = .084 

Kids 43 and Earlier Ages 81.468 (63) .034 (.000, .053) .903 .883 .070 χ2
diff(1) = .019, p = .890 

Kids 50 and Earlier Ages 82.394 (64) .033 (.000, .053) .904 .885 .070 χ2
diff(1) = .926, p = .336 

Housework Aggregate       

Freely Estimated  61.034 (50) .029 (.000, .052) .953 .929 .064  

Constraints Across Men and 

Women 

      

Trad. GRA → Int.  65.846 (51) .033 (.000, .055) .937 .906 .068 χ2
diff(1) = 4.812, p = .028 

Home. Mother → Int. 73.011 (51) .041 (.016, .061) .907 .861 .069 χ2
diff(1) = 11.977, p < .001 

Mother Educ. → Int. 65.222 (51) .033 (.000, .054) .940 .910 .067 χ2
diff(1) = 4.188, p = .041 

Father Education → Int. 69.526 (51) .037 (.007, .058) .922 .883 .070 χ2
diff(1) = 8.492, p = .004 

Kids 25 → House 25 70.294 (51) .038 (.010, .059) .918 .878 .067 χ2
diff(1) = 9.260, p = .002 

Kids 32 → House 32 73.960 (51) .042 (.017, .061) .903 .855 .072 χ2
diff(1) = 12.926, p < .001 

Kids 43 → House 43 78.178 (51) .045 (.023, .064) .885 .829 .069 χ2
diff(1) = 17.144, p < .001 

Kids 50 → House 50 76.820 (51) .044 (.022, .063) .891 .837 .070 χ2
diff(1) = 15.786, p < .001 

Constraints Across Time for 

Women 

      

Kids 25 and Kids 32  61.036 (51) .028 (.000, .051) .958 .937 .064 χ2
diff(1) = .002, p = .964 

Kids 43 and Earlier Ages 61.202 (52) .026 (.000, .049) .961 .943 .064 χ2
diff(1) = .166, p = .684 

Kids 50 and Earlier Ages 61.211 (53) .024 (.000, .048) .965 .950 .064 χ2
diff(1) = .009, p = .924 

Constraints Across Time for 

Men 

      

Kids 25 and Kids 32  63.570 (54) .026 (.000, .049) .959 .943 .065 χ2
diff(1) = 2.359, p = .125 

Kids 43 and Earlier Ages 64.147 (55) .025 (.000, .048) .961 .947 .065 χ2
diff(1) = .577, p = .477 

Kids 50 and Earlier Ages 66.723 (56) .027 (.000, .049) .955 .938 .065 χ2
diff(1) = 2.576, p = .108 

Note: Trad. = traditional. GRA = gender role attitudes. Int. = intercept. Home. = homemaker. 

House = housework. Kids = raising children. 25 = age 25. 32 = age 32. 43 = age 43. 50 = age 50.  


